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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2013 	01 16 2 
ELECTIVE COURSE : COMMERCE 

ECO-7 : ELEMENTS OF STATISTICS 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : Attempt any four questions. All questions carry equal 
marks. 

1. 	(a) Fill in the blanks with a suitable word as 	8 
given in brackets : 

(i) In 	 enquiry the whole 
group is to be surveyed. (sample/ 
census) 

(ii) When the errors tend to cancel each 
other, they are called 	 
errors. (unbiased/biased) 

(iii) 	 is unduly affected by 
extreme values. (Arithmetic mean/ 
median) 

(iv) It takes  	time to collect 
secondary data compared to primary 
data. (less/more) 

(v) If the data is divided on the basis of 
similarity, it is called 	 
(Tabulation/ classification) 
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(vi) Two dimensional diagram indicates 
	. (volume/area) 

(vii) 	 is the degree of variation 
of the variables about a central value. 
(Skewness/ Dispersion) 

(viii) data generally has two 
modes. (U-shaped/J-shaped) 

(b) What do you mean by statistical survey ? 
	

41/2 

2. (a) Compute standard deviation, mode and 
median, when mean = 50, coefficient of 
variation = 40% and skewness = —0.4 	2+2+4 

(b) State the advantages of collection of data 41/2 
through a questionnaire. 

3. (a) Explain the importance of visual 61/2 
presentation of data. 

(b) What are the sources of secondary data ? 
	

6 
Explain. 

4. Compute the co-efficient of variation from the 
data given below : 	 121/2 

Marks 10-20 20-30 30-40 40-50 50-60 60-70 
No. of 

Students 
18 22 40 32 18 10 
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5. 	F-1 4—iFoR5d 3 	A.  "4 ch 	724-1 	3-TfIT' ast;)*  

(tTitogives) 	fit-c1-11 WrEA7 3117 1k 	~t~IfTa~l 

TtT Hirur*--r 7110 	 121/2 

IT-rt 

(1-*(1):1144) 

ci *N.  wrt ( girl 4,114-) • 061 *1 q 

4(9.11 * 	H(sql 

4 0 	3TRTT 50 10 	*4-1 
10 10 .# 3T-Fq- 46 20 74 ci-+i 

30 20 74 3-71N--. 40 30 74 cill-i 
40 30 74 3-TRT---  20  40 4 cro-i 
47 40 	3-Trz. 10 50 74 *H 
50 50 4 3irg—.  3  60 74 ch1-1 

6. (a)  4-111 -7 = 80 t 6 = 60, Q3  = 96 72.11 

tl-ErTzf 	nutli 

(b)  1995-2000, 	2000-2005 .2.11 	2005-2010 61/2 

7R1-zr .q-rW 3-Tqfq-zi'f 	-gri=n-ur 

317, F(4,1, TrRw-d-r ftik ATa I 1kur4t 

fTwr 	TrR-a-ft 

7. (a)  AfdRIcic1l "ff 2-TT 37177) -97:1)77 	i 	oqlts611 61/2 

(b)  6 -41-P4 .wr 	qui 

r 61di t I 3q1(ul TIF-077:1 cqks.e-111-F77 I 
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5. 	From the following data, draw the "less than" 121/2 
and "more than" curves (ogives) and ascertain 
the median graphically : 

Weight (kgs) No.of 

Persons 

Weight (kgs) No.of 

Persons 

Less than 10 4 More than 0 50 

Less than 20 10 More than 10 46 

Less than 30 30 More than 20 40 

Less than 40 40 More than 30 20 

Less than 50 47 More than 40 10 

Less than 60 50 More than 50 3 

6. (a) Compute Bowley's skewness, when : 	6 
Q, = 60, Q3  = 96 and median = 80. 

(b) Prepare a blank statistical table to show age, 61/2 
sex, literacy levels and occupation of the 
residents of Rural and Urban areas during 
the periods of 1995-2000, 2000-2005 and 
2005-2010. 

7. (a) Explain the purpose of percentages and 61/2 
ratios. 

(b) One of the properties of Arithmetic mean is : 	6 

E(x—x) is always zero. Explain it with an 
illustration. 
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arra '-T afw : 50 

TO-  : 70% 

Te#W-ITTR7 -7 -r-771 Ti9#5t . a1Tt414411,1 

chl td1-4 rq -7rf -4 A 3L1 	7 g 	RI ft 

T-21-rt a.C1 

(i) 	31--gfq-F TITITii 

Tf--4-Tur 11(11 	 t I (7r—di/ 	4'1u1-11) 

(ii) \-1.1 fq1A-14 	 cbk 

	fq9A-gr 	T 	Id' 

t (3T9-FiTTa/3TfiT9-u) 

	 1:171 A 34T-zrffq--  

39T1i7d7 	t I 0-14-iicTtrrt7/ 

(iv) f-g-d-1-zr - Tri:i.-A ---r 41-)o-f . 7-4 wif-ITT  

c) 	iT 	 *L11-11 0 4 1(11 

t 1 (114-1/3-1fqT) 

(v) \IN TITW 	 31-KR TR 31-r-4--eu 

\AIM t  	 t 

0-11tunq-f/c141 c -11) 

1. 	(a) 8 
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(vi) ['gra 1-I Cli q 3-7103 Af-dff ell 	Oft 	 

I (4R4-IM/7) 

(vii) 	 rrT-Nzi -4uuW 	ttzt 
TT t 	iii fq-ftr-d-i 	37f9 .t4 t 1 

(raa 4-iciv3TErf-*70T) 

(viii) 	 3-11 --# t ,w 4-11-1(1441 t 

ilfzr old 	t I (U-7t/J-Iilt) 

(b) 	-11(S4ich q 	LITT14 cwil .a7Tzf t? 	 41/2 

2. (a) Tft 1--Traf =50 t, CDT 1171t=40% t. W2TT 

rcitiHcif= -0.4 t 	374 t +i11ch ralcil, 

iftraw W2TTI:TTftzr*-T V' +I u hi I 'W1C-771 	2+2+4 

(b) 1c , m-ticto t Trrtzrq c t 44-tui t- 41/2 

7T94 -.r 7.--;:g V-r-4 1 

3. (a) TETIVt t Ift5Z-- 1-qd1civkIii t 	.W1 ceiRsql 61/2 

Vf-7 I 

	

(b) f-cdtzl-TITIVt c-I errt? 00-4Rso-11Vf-A71 	6 

4. F-14-iriii.51 alt"*"t fd7{7 latrilt (co-efficient of 121/2 

variation) V' 41u1-11Vi77 : 

31t 10-20 20-30 30-40 40-50 50-60 60-70 

faW 

ti.taqi 
18 22 40 32 18 10 
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